Economics 113 - Fall 2010 Professor Spearot
Introduction to Econometrics
Name 1D

Midterm Exam # 1 — 50 Points

The exam is closed book and closed notes. Please show your work step by step. Simple calculators may be used
(no graphing or financial calculators and no cell phones or iPods)
You must show vour work to receive full credit

I have neither given nor received unauthorized aid on this examination, nor have I concealed any similar
misconduct by others.

Signature

Problem 1 (10 points)

The three largest departments in the division of social sciences are economics, psychology, and sociology.
Economics had 1100 enrollments and an average “class size” of 41 enrollments per faculty in 2008-09. Psychology
had 920 enrollments and an average class size of 31 enrollments per faculty. Sociology had 490 enrollments and an
average class size of 31 enrollments per faculty. Calculate the correlation of department size and average class size.




Problem 2 (20 Points)
Shoelace is a very talented football player. Suppose that Shoelace’s rushing yards per game follows a normal
distribution, with mean 200 and standard deviation 50.

a. What is the probability that Shoelace rushes for 231 yards in the next game? (5 points)

b. What is the probability that Shoelace rushes for 100 yards or less in the next game? (5 points)

c. To win the Heisman, Shoelace needs to run for more than 150 yards a game in all of the next 5 games.
Suppose that games are independent from one another, and that performance in each game follows the
distribution described above. What is the probability Shoelace does not win the Heisman? (10 points)



Problem 3 (20 Points)

a.) The probability that you attend class is 0.7. If you attend class, the probability of getting an A on this exam is 0.3.
If you don’t attend class, the probability of getting an A is 0.1. Given that you do not get an A on the exam, what is
the probability that you do not attend class? (10 Points)



b.) Getting an A earns you a $50,000 job at LaHonda Motor Company. Not getting an A earns you a $20,000 job at
Fresla Motors. By not attending class you earn $10,000 by day-trading. What is Expected Income? (10 Points)
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